o
[N

%107

T YF : : : A F : :
g E | b : c F ! :
A 0.15 : R § . AN . 50.15---- E | S S R
S o f : 8 C !
o 01 b 117 L - E.... Bl A -
v 0.1: 5 : v 0.1: :
0.05F § 1. N 0.05F -+ R e
of AL BN = o4 e
-0.05F L (L I ~0.05f----- : 0
0.1 t Hhllf- A ~0.1F A N
-0.15F R e -0.15F "I 1 1| Rt B {0 o R[S REE
_9_'0\"2:' . \ b B g b } I | ' _9_-0\»’2:' wa b Qb B L | M | A Wl
g ’ ; ’ g 4
o L ] o L ]
1HTH 4+ -iqmoo« 1 <+ 144441 - 4214 4
0.95C 0.95C

-2 -1 0 1 2 3 23 2 -1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

—=— DQM_TT_time_newbranch

—— DQM_TT_newbranch_time_pLess

5 100E £ 1005
= B0 e = 80|
N L N L
z 60H S 60F
S F o F
v 405 v 40:—
20F 20F

OF OF

—20F —20F

-40F : ~40F

-60f : -60F-

Y| RETEE SLTER R R MSRREE SRR -80F
.Q_lQO:IIII!IIII!””!””!””!”” Q_lQO:I L
T r : 1 T r
x B [ad N

i 8 1 ARREES ettt - 54 904 1T 41 - {931 +H

09531 0 1 2 3 0953 T 1 0 1 2 3

TP n (PCA: to beamline) TP n (PCA to beamline)

<op/p. > (%)

> &
> ¢
> &
+
> s
> &
> ¢
3
> &
> ¢
> &
> &

- o0 1 2 3
TP n (PCA to beamline)

[0 s
|
N



	Contents
	Page 1


